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Answer all ELEVEN questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

1 f(x) = 3x® + 2sinx — iz where x =0
X

(@) Find f'(x)

(b) Find [f(x)dx
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r

2 Find the set of values of x for which (2x—3)? > 7x -3
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r

3 The volume, V cm?, of a sphere of radius r cm is increasing at the rate of 60 cm?/s.

Find the rate of increase of the radius, in cm/s correct to 2 significant figures, when the
volume is 36000z cm?.
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(

4 An arithmetic series has first term p and common difference p where p # 0
A geometric series also has first term p. The common ratio of this geometric series is r.
The sum of the first three terms of the arithmetic series is equal to the sum of the first
three terms of the geometric series.
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(Total for Question 4 is 5 marks)
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1
5 Given that 1 can be written as p(1 - gx) 2

N/

(a) find the value of p and the value of g.

(b) (i) Find the first four terms in the expansion of in ascending powers

1
V4 - X
of x, simplifying each term.

(ii) State the range of values of x for which this expansion is valid.

2(1+ x)
Jai—x

Given that the first three terms of the expansion of are a + bx + cx?

(c) find the exact value of

(i) a (ii) b (iii) ¢
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Question 5 continued
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r

6 Giving your solutions to 3 decimal places, solve the equation

(@) cosx=0.4 —T<X<T

(b) tan 20+% 1.5 O<bl<m
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Diagram NOT
accurately drawn

4 cm

B 5cm C

Figure 1

Figure 1 shows the triangle ABC with AB =4 cm, BC =5 cm and angle BCA = 30°
The point D lies on AC such that BD = 4 cm and angle BDC is obtuse.
Find

(a) the size of angle BDC, giving your answer in degrees correct to 1 decimal place,

(b) the length, in cm, of AD, giving your answer correct to 3 significant figures,

(c) the area, in cm?, of triangle ABD, giving your answer correct to 3 significant figures.
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Question 7 continued
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r

8 A particle P is moving along the positive x-axis. At time t seconds (t > 0), the
acceleration a m/s? of P is given by a=6 -4t

When t=0, P is at rest and the displacement of P from the origin O is 5 metres.

At time t seconds, the velocity of P is v m/s and the displacement of P from O is
S metres.

() Find, in terms of t, an expression for

(i) v

(i) s
For t > 0, P comes to instantaneous rest at the point A.
(b) Find

(i) the value of t when P reaches A,

(ii) the distance OA.
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Figure 2

Figure 2 shows the curve S with equationy = 8 — 2x — x?
The curve S crosses the x-axis at the points A and B.

(a) Find the x coordinate of A and the x coordinate of B.

(b) Use calculus to find the area of the finite region bounded by S and the x-axis.

The curve T with equation y = x2 + X + 6 intersects S.

(c) Find the x coordinates of the points of intersection of S and T.

(d) Use calculus to find the area of the finite region bounded by Sand T.
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10 Given that 2Iogy X+2log y=5
1
(a) show that Iogy X = 5 or Iogy X=2

()

(b) Hence, or otherwise, solve the equations

1
N
~

Xy
2I0gy x+2log, y

I
ol

(6)

oo
SRR
prosessiases

4%
oS,
PP

%
9%,
25

% =~ 292
SR,
o5
35

%%
000’:.0. otese :

QORI
S
55

%%
0%
KK

QLRI

RREERKELRKLLRRK,

SR
KIS ICRXKX
SRS
QLK

Q8

NN
T

K ERRRKLRRKLRS
OLseotelotetetetetotetoteted

RN
0300
.

8

<
208
XX RK X
SRS

%
&
5K

[

x>

(9% 1%
KL
’::.,‘%:‘
&
0% <%

O
LIRS

o Y
SR
RSRRIS

XA
X KA
R
00008 1 L,
)
XA
0000.0000

¢!

9%
KKK

QCICRRIEIRRKY

RRELRS

QLB
05 %%
S
RKERKS

5
RRLLRKS
SRR

X
SR
SRS

CIRRKS
%

<5
5
o
e

XX



PMT

CHRXK
SRR M N
Besesetetes

< | Question 10 continued

%58
TS
XA

XX 352

fotote 5o

%

IRELIR
Dot co G [N U TP T T T U TP TP U TP O PP P T TR U PO T SR PR PRPO
LB
0%
QRETXL

<} o%
Ko
:‘:.v"v'»" e T E L P PP TP P TR PE PP PPN

0N

é%

OO
ey
-

O
XL
<IN
LI
AN
X

%
00
TN
7%
0

L

OOEAK
LS
CEC NS
[SCAR
b XY
FERLRX
R

o2l
L
K
P
botet
bSota
&
Ko
S
SETRAL
RIS
SR
9% ety
.
<5

OO
Qﬁ&y
Oy
NG
SR

0%
KT

1 & s
Sei,
0

LKL
bo%e = !
e b07e7e%
QIR
Jossssssases
LXK
R
&5&&&
&ﬁﬁ&ﬁf ..................................................................................................................................................................................................................................................
0.0000

6
ooded
K5
K5
SBS
255
L




r

Question 10 continued
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11
f(xX) =4 +3x-x?

(@) Write f(x) in the form P — Q(x + R)?, where P, Q and R are rational numbers.

The curve C has equationy =4 + 3x — x2

(b) Find the coordinates of the maximum point of C.

(1)
The line | is a tangent to C at the point where x = 1

(c) Find an equation for |,

Another line |, is perpendicular to I, and is also a tangent to C.
The lines |, and |, intersect at the point A.

(d) Find the coordinates of A.
(5)

The point B with coordinates (-3, 2) lies on |,

(e) Find the exact length of AB.
(2)

The point D with coordinates (8, 0) lies on I,

(f) Find the exact area of triangle ABD.
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Question 11 continued

(Total for Question 11 is 18 marks)

TOTAL FOR PAPER IS 100 MARKS
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